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>/<new work>/g; s/<oldword2>/<new work2>/g"
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1. S50iM:

APIC#acidiag fnvread | grep leaf | awk '{print $1}'
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APIC#acidiag fnvread | grep leaf | awk '{print $1}' | sed -z 's/\n/,/9;s/,%$/\n/’
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APIC#moquery -c ethpm.PhysIf | egrep "dn|TlastLinkStChg|resetCtr" | tr -d "\n" | sed "s/dn/\ndn/g;s/last
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APIC#for leaf in “acidiag fnvread | grep leaf | awk '{print $1}'"; do echo; echo " -> leaf ID: $leaf "
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APIC#bash
APIC#b=1; m=125000;b=$((b*m)); printf "%-65s %25s\n", "Node/Interface" "Bits/Second"; icurl 'http://Toc

APIC#for leaf in “acidiag fnvread | grep leaf | awk '{print $1}'"; do echo; echo " -> leaf ID: $leaf "
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APIC#for node in “acidiag fnvread | grep leaf | awk '{print $1}'"; do echo; echo "node ID: $node "; fab
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APIC#for node in “acidiag fnvread | grep leaf | awk '{print $1}'"; do echo; echo "node ID: $node
=
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| grep "IP Multicast Routing Table for VR'
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APIC#for vrf in “show ip mroute summary vrf all
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; do echo; echo " -> leaf ID: $leaf
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APIC#for leaf in “acidiag fnvread | grep leaf | awk '{print $1}'
; do echo; echo " -> leaf ID: $leaf

APIC#for leaf in “acidiag fnvread | grep leaf | awk '{print $1}'
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'0"" | egrep "RxDropPacketsCount|dn"
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APIC#moquery -c gosmIfClass -f 'qosm.IfClass.RxDropPacketsCount!="0
| egrep "TxDropPacketsCount|dn" |
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APIC#moquery -c qosmIfClass -f 'qgosm.IfClass.TxDropPacketsCount!="0""
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FCS LR/ (HI®S CRC 2F)

APIC#moquery -c rmonDot3Stats -f 'rmon.Dot3Stats.fCSErrors>="1"' | egrep "dn|fCSErrors"

FCS + 25 E CRC 2%

APIC#moquery -c rmonEtherStats -f 'rmon.EtherStats.cRCATignErrors>="1""' | egrep "dn|cRCAlignErrors"
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APIC#moquery -c rmonEgrCounters -f 'rmon.EgrCounters.bufferdroppkts>="1""' | egrep "dn|bufferdroppkts"

output errors

APIC#moquery -c rmonIfOut -f 'rmon.IfOut.errors>="1 | egrep "dn|errors"
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APIC# acidiag fnvread | egrep " active" | egrep "leaf|spine" | awk '{print $1}' | sed -e 'H;${x;s/\n/,/
101,102,103,204,205,206,301,1001,1002,2001,2002
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APIC# fabric 101,102,103,204,205,206,301,1001,1002,2001,2002 clear counters interface all
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APIC#moquery -c bgpPeerEntry -f 'bgp.PeerEntry.operSt!="established" and bgp.PeerEntry.dn*"overlay-1
BGP MM & & lstE{H
APIC#moquery -c bgpPeerEntry -f 'bgp.PeerEntry.operSt!="established" | egrep "dn|operSt" | tr -d "\n" |
OSPF MM ZX:
A & Ef7t of il MM E AlEgfL .
APIC#moquery -c ospfAdjEp -f 'ospf.AdjEp.operSt!="full"' | egrep "dn|peerIp" | tr -d '\n' | sed "s/dn
X&Moz E-MeteE MME AEstn 2|0 72 E0 CiEF YEE HEeLICH
| egrep "dn|stChgCnt" | tr -d "\n" | tr -

APIC#moquery -c ospfAdjStats -f 'ospf.AdjStats.stChgCnt!="0""

CPUO| HEEl 7|& TjZ!
/N o2 ArEte TSI AIAIS. O] BE 5007H0] IHZIS CIHZIELICH 20| ¢ 7D ¢
off XS £ &BHLIC}

TEAF#tcpdump -i kpm_inb -c 500 > /tmp/cpu-dp.txt

LEAF#cat /tmp/cpu-dp.txt | grep IP | awk '{print $3 ,
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LEAF#tcpdump -i kpm_inb -c 500 | grep IP | awk '{print $3 , $4 , $5}' | grep -v $HOSTNAME | awk -F ':'
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APIC#moquery -c actrlRule -f 'actrl.Rule.sPcTag=="32783" and actrl.Rule.dPcTag=="46" and actrl.Rule.sco
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APIC#moquery -c 12CktEp -f '12.CktEp.encap=="vlan-3018""'
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APIC#bash
APIC# clear ; echo -e "Node ID\t\tFree Memory\tUsed Memory" ; moquery -c procSysMemHistl5min -f 'proc.S
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APIC# cat istack_debug | egrep "Protocol: |x_pkts_dropped"” | tr -d "\n" | sed "s/Protocol/\nProtocol/g"

APIC# CONTRACT='brc-<contract-name>"
APIC# TN='<tenant>'

#CHECK CONSUMERS
#To get the count of epgs consuming a contract (excluding vzany consumer):
APIC#icurl -g 'http://localhost:7777/api/node/mo/uni/tn-"$TN'/'$CONTRACT'.json?query-target=subtree&tar

#To Tlist all epg objects consuming a contract (excluding vzany consumers):
APIC#icurl -g 'http://localhost:7777/api/node/mo/uni/tn-"$TN'/'$CONTRACT'.json?query-target=subtree&tar

#To get the count of vzanys consuming a contract:
APIC#icurl '"http://localhost:7777/api/node/mo/uni/tn-"$TN'/"'$CONTRACT'.json?query-target=children&targe



#To Tlist all vzany objects consuming a contract:
APIC#icurl 'http://localhost:7777/api/node/mo/uni/tn-"$TN'/"'$CONTRACT'.json?query-target=children&targe

#CHECK PROVIDERS
#To get the count of epgs providing a contract (excluding vzany consumer):
APIC#icurl -g 'http://localhost:7777/api/node/mo/uni/tn-"'$TN'/'$CONTRACT'.json?query-target=subtree&tar

#To Tlist all epg objects providing a contract (excluding vzany consumers):
APIC#icurl -g 'http://localhost:7777/api/node/mo/uni/tn-"'$TN'/'$CONTRACT'.json?query-target=subtree&tar

#To get the count of vzanys providing a contract:
APIC#icurl 'http://localhost:7777/api/node/mo/uni/tn-"$TN'/"'$CONTRACT'.json?query-target=children&targe

#To Tlist all vzany objects providing a contract:
APIC#icurl 'http://localhost:7777/api/node/mo/uni/tn-"$TN'/"'$CONTRACT'.json?query-target=children&targe
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